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Ootgtel It 7 el 300,000% * 1CH 300 0 300
O2FHS WSAUFEAZRY ADIAR 7Y

300,000% * 1CH 300 0 300
02FS 4WIAB2Y A0SR 7Y

300,0002 * 1CH 300 0 300
O2FS 4MW2EIBRY A0SR 7Y

300,0002 * 1CH 300 0 300
O2FS 4WIBRY A0IAX P

300,0002 * 1CH 300 0 300
O2FES HWIABRY 0K P

300,0002 * 1CH 300 0 300
O2FS WHIAARY A0IAX P

300,000% * 1CH 300 0 300
OQFS WHRIARY A0IAX P

300,0002 * 1CH 300 0 300
O2FS SHMN(LL)ATZY 0K 7

300,000% * 1CH 300 0 300
02&ES FMNAZRY ANAX P

300,000% * 1CH 300 0 300
O2FS HU2RIERY A0AX P

300,0002 * 1CH 300 0 300
O2&S Hol52BRY A0AX P

300,000% * 1CH 300 0 300
OYS SHUNNSAZRY 00127

,500,00020 * 2CH 3,000 0 3,000
OSUNHE FTCULUAZRY WED 2

1,300,00020 * 1k 1,300 0 1,300




AN FEF FUSK N
HE: AUGHD BIE LSME 2T
el BRE 29 2435 (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HIDE2
O2LIZES 2S6SEZY 20t g
1,700,000& = 1CH 1,700 0 1,700
405 TtobFH SHI 55,350 0 55,350
01 AL ESFH SH 55,350 0 55,350
O2LLZEES AL28Z Y HEFHY 6,800 0 6,800
odEINIY 1,200,000& = 1CH 1,200 0 1,200
onv=¢ 1,200,000 = 2CH 2,400 0 2,400
ozxdg&dENTY 1,000,000& = 1CH 1,000 0 1,000
oA+ 700,000& * 1CH 700 0 700
O+ 1,500,000& = 104 1,500 0 1,500
022EE JHssSEAZY HIEZFE 2,200 0 2,200
ov=g 1,200,000& = 1CH 1,200 0 1,200
O&=217¢ 1,000,000& = 1CH 1,000 0 1,000
ORAs dLE(Z)I2Y IXdAX 7
300,000& * 1CH 300 0 300
OSTAMNES Meld2Y FAI|7Y
300,000& * 1CH 300 0 300
OsgANds =824 )72 Y
2,000,000& = 1CH 2,000 0 2,000
oEEs 2HIZE HS7E 2,300 0 2,300
odENFY 1,000,000& = 1CH 1,000 0 1,000
onv=¢g 700,000& * 1CH 700 0 700
O&JIgEF 300,000& = 1CH 300 0 300
oHOLS Rt 300,000& * 1CH 300 0 300
O2&s =83cld=2E H37¢ 3,000 0 3,000
odanag 1,000,000& = 1CH 1,000 0 1,000
ov=¢ 700,000& « 1CH 700 0 700
O&JIgEx 300,000& * 1CH 300 0 300
ooz 1,000,000& = 1CH 1,000 0 1,000
oudges gaadzd v
800,000& * 1CH 800 0 800
OUsE2s &=+32Y TV 800,000 * 1CH 800 0 800
OUsH2s ¢=s2ad=z2g FxJ7Y
400,000& « 1CH 400 0 400
OUH2s =g ad=z2y I
400,000& = 1CH 400 0 400
ougis 4ed3=z< oot Xt ¢
2,000,000& = 1C4 2,000 0 2,000
OUs=1s D192 2E HIE2E 3,600 0 3,600
ov=¢ 800,000& = 1CH 800 0 800
O&F=J17g 800,000& * 1CH 800 0 800
Oetotel X+ 2,000,000& * 1CH 2,000 0 2,000
OUE1s S4LAZ2Y HISXA 2,800 0 2,800
ov=¢ 800,000& = 1CH 800 0 800




SN HER Fo=X Y
o AU BIE LIME 2T
Sl 2P 2Y By (29l & 2)
SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T Hl DS 2
SEIERED 2,000,0008 = 1CH 2,000 0 2,000
OUSIS HYYZY HIETY 3,100 0 3,100
oTVRY 800,000 * 14 800 0 800
Ol 02 7 ey 1,500,0008 * 1cH 1,500 0 1,500
O"2II2Y 800,000 * 14 800 0 800
OUSS F=AZY 0027 Y
1,500,000% * 1CH 1,500 0 1,500
OUSIS BNEZRY VR Y
800,002 = 1CH 800 0 800
OUSIS HEA2Y 22017 7Y
3,000,0008 * 3CH 9,000 0 9,000
ORYUS HLYARY HIE7Y 4,600 0 4,600
oTvae 8000008 * 2CH 1,600 0 1,600
Ol 02 ey 1,500,0008 * 2CH 3,000 0 3,000
O2FHS H1.3IZY A0AT 7Y
300,0008 = 1CH 300 0 300
OB Hell2(ZOHX)A2Y A0 7
o 300,000 * 14 300 0 300
O2FS F2R(THL)ZEY 20X 7Y
300,008 = 1CH 300 0 300
O2FS PEAZRL ANAT 7Y
300,008 * 1CH 300 0 300
OSYUS 2YARY YN 4,000 0 4,000
OwzynTY 1,000,0002 * 1cH 1,000 0 1,000
Ol 042 7 ey 1,500,0008 * 2CH 3,000 0 3,000
ORUS TARY HISN 2,450 0 2,450
OWznDRY 950,0002 * 1k 950 0 950
Ol 02 P e 1,500,000 * 1CH 1,500 0 1,500
OBYMNES ANSF2ZY VR Y
1,000,0002! * 1CH 1,000 0 1,000
COBYDSSY(F) 10,000 0 10,000
307 2I2H0] 10,000 0 10,000
REENEES 10,000 0 10,000
ostens Es 10,000,008 * 13| 10,000 0 0,000
289 ZZH st L OIS=X A 2,230,029 1,834,009 396, 000
282 XYM L 23 23 2,006,264 1,700,264 396, 000
(BF)2SAE 0tS2AH X2 (F) 756,000 371,000 385,000
307 212+0I & 756,000 371,000 385,000
REENEES 756,000 371,000 385,000
FS0IS 2AH X8 756,000,000 756,000 371,000 385,000
(BF)8E HASOHS XNV (H) 22,664 1,664 1,000
307 21201 & 22,664 1,664 11,000




EMN: HIEAR FoUEXH
Y Bx9 334 23 L olsSsA o
Chel: B2 X2 @ 224 25 (=& &)
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Hns2
10 MaISXEX 22,664 11,664 11,000
OYHIENASOHs 32XNAA BEEE AHHXA
17,984,000& 17,984 6,984 11,000
FUAHS L HOe =XSE 298,851 301,955 A3,104
oo HeNs ¥ =SXA85A 126,416 129,520 A3,104
(HEF=)Z0HQl =X S (&) 24,086 27,190 ~3,104
201 Bt A | 1,586 4,690 A 3,104
01 At 22l Yl 1,376 4,480 A3,104
OHMUAERIIE 2 15 MA KRA(RAMEY)
(k=] 0 200 A 200
OXQIXNSA NEET2EHZ S0IHE L2
T2 (BMHEE) 1,376,000 1,376 2,000 N 624
OZOHOIXIE AYUEX FA(BAHA) 0 0 2,100 A 2,100
ORNQAXIE AYHET 2R RL(LAHHA)
0 0 180 A 180
NS F=00190 ESXS& 9,232 4,327 4,905
NASES MEHEEE 9,232 4,327 4,905
(HZF)one-stop SEAMHIA ZAHH) 9,232 4,327 4,905
201 Bt A H| 8,464 3,559 4,905
02 =294l 7,395 2,490 4,905
OSXUHAX RER=2 7,395 2,490 4,905
O gt 300& + 15,000 4,500 1,350 3,150
O&II 1,930& *1,500S 2,895 1,140 1,755
HHSHBEH(HIAR FU=2X D) 58,378 34,892 23,486
Jl2 &bl 58,378 34,892 23,486
(M=)J|=22&4| 58,378 34,892 23,486
201 Bt A | 25,598 14,682 10,916
01 At 22l Yl 25,598 14,682 10,916
OJI=2gd#HeSH| 14,366 ,000& 14,366 7,230 7,136
OJI=&AHl(=S&d|) 11,232,000& 11,232 7,452 3,780
202 O B 28,080 16,560 11,520
01 =LHO bl 28,080 16,560 11,520
©J| =& bl 28,080,000& 28,080 16,560 11,520
203 2R =&lY| 4,200 3,150 1,050
04 EMSIHRF=EY| 4,200 3,150 1,050
ORNM2YIRFAY| 4,200,000 4,200 3,150 1,050




= A
Nl = 0 At 2 H Al
20148 &= =& 1 g L3I A M A
A7 sFAEH
S 24 L 2
Ax 84 4 25 ?l:E)
cHH .2 (S H) - MRAIY - BHE= 0] AFoH ) [Elio 2
I =SMFAY 130,460 95,278 35,182
2 x4 Y e 74,383 62,205 12,178
e 88 ¢ 25 67,208 62,205 5,003
HF)MENS(R) 11,727 10,227 1,500
201 2Bt 10,617 9,117 1,500
01 AF2 22| H 6,660 5,160 1,500
OAMEEA2RA T2 1,500 0 1,500
Ogtst= 90,000€ * 10 900 0 900
OeHE 3t 60,0002 * 10 & 600 0 600
HEMBEH L ESAIY(H) 9,576 6,073 3,503
206 I 24l 7,863 4,360 3,503
01 MEHl 7,863 4,360 3,503
OMELHS oA ROHEl 4,2002 * 83474 3,503 0 3,503
24 2 SXAIE 2e 7,175 0 7,175
X A& 2te 7,175 0 7,175
101 Q1A H 5,998 0 5,998
04 JIZtRI2ZE2XNEES 5,998 0 5,998
OZZEAM 22X B
50,0008 * 2% * 36Y 3,600 0 3,600
OM=Z=SE AIZE22 22X B
50,0008 * 1% * 36Y 1,800 0 1,800
OMZIEE 2 598 0 598
Oo=zpozggz 5,400,0002 * 4.5% 243 0 243
OxzuEszrd2 5,400,0002 * 2.945% 160 0 160
QZIeeEs2242 403,0002 * 6.55% 27 0 27
onegggard:= 5,400,0002 * 1.5% 81 0 81
O 28 2892 5,400,000€ * 1.6% 87 0 87
201 LBt 1,002 0 1,002
02 2229 1,002 0 1,002
OsXIAIE ZHI(MS22) 702 0 702
OR=EH 1,8502 * 4L * 601 * 15 666 0 666
ouxey 5,0002 = 0.2L * 608 * 6 36 0 36
O=XIAl& ZH|Z2lH] 100,00024 * 3CH 300 0 300
206 24l 175 175
01 24| 175 175
OJt2 st 2A2ES
S0l % DXESI| E 35,0008 * 58 175 0 175
SEA FM A5 17,061 6,681 10,380
IEE NS MY 1,092 612 480




2N
X ZH -
L= B

el

HAD SEMSHD
SEN FY L3
DEI NS M

SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
(BF)IIEHYY SEYAUMSIL 2 (H) 1,092 612 480
202 04| 480 0 480
01 201 bl 480 0 480
OZMBIE HREX ol
20,0008 * 29 * 302 * 80% * 1/2 480 0 480
SH Y =I|BAL B 5,849 5,049 800
(BF)s3 AR L NA(H) 4,760 3,960 800
206 T 2 Hl 3,800 3,000 800
01 24l 3,800 3,000 800
© 5438 MEH el 0F 7Y
8,0002 * 1000}2| 800 0 800
NHNE LS MY = 9,100 0 9,100
CASERNHE LAY 9,100 0 9,100
307 ©12+0I & 9,100 0 9,100
02 oIRtPARES 9,100 0 9,100
OZASEXNNNS LA (BSHY)
9,100,0008 * 14! 9,100 0 9,100
BHSAHY(ZATE ZHRSED) 36,542 23,918 12,624
DI 36,542 23,918 12,624
(BF))=22Y) 36,542 23,918 12,624
201 LBt Y| 18,562 11,468 7,094
01 AL 2rel | 16,592 9,498 7,094
oYgR+y s J=F 10, 12,0002 10,112 6,258 3,854
©IEAHI (S2H) 6,480,0002! 6,480 3,240 3,240
202 048l 13,630 ,100 5,530
01 2ol 13,630 ,100 5,530
OJEA Y| 13,630,000 13,630 8,100 5,530




N & O & g 8 A A
2014HE = 1 8 sl HA
SN HER NP
a: XN e
Sl FEE KWAH £ (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
HE2 NRM 431,932 288,136 143,796
N A 2el 370,454 236,196 134,258
s NgA 2 197,778 162, 146 35,632
HFE)NLAM 22 & EE(H) 137,276 101,644 35,632
201 2Bt2 114,188 78,556 35,632
01 At2 2t el b 29,188 13,916 16,272
OXEAN BEHH2 =& 17,888 11,880 6,008
O&JIZ2AXAM 72,600 * 1534+ Xt 11,108 5,100 6,008
OXZAN EE 11,300 2,036 9,264
OXNYHNEREAAMEE 2303 * 12,0000 2,760 0 2,760
OXNYN BII2 228 212
230  30,000% 6,900 396 6,504
02 3224l 85,000 64,640 20,360
OLDXNM EERI(HIZ, =AZ) 82,440 64,640 17,800
oggt 300& * 214,000 64,200 46,400 17,800
OdHF FHI =X 2,560 0 2,560
ODnEZEHI 52,771,000& » 6% * 0.5 1,584 0 1,584
o=gfE=zsg)l 17,930,000& » 6% * 0.5 538 0 538
O&X= ALDI 3,200,000& » 3CH * 6% *0.5 288 0 288
ORIE-R=F SRl 25,000& » 6 & 150 0 150
SEHQ HMYH = 172,676 74,050 98,626
HE)XLAN MG 2A5H(H) 147,826 49,200 98,626
201 2Bt Yl 66,826 49,200 17,626
01 AtR 2t 2l | 21,726 12,600 9,126
OXNgAN g =& 21,726 12,600 9,126
OXME XA 72,600 = 1104 Xt 7,986 3,750 4,236
OSEZ LA 72,6003 * 204 At 1,452 0 1,452
oct =2, o= 72,600& * 30&F &t 2,178 1,500 678
OZMMES+2 600,000& = 359 = 25% 5,250 3,750 1,500
OXNYAH HMe SEd=I12t 22 1,960 700 1,260
=Rk 70,000& = 43 » 7oA 1,960 700 1,260
02 32224l 45,100 36,600 8,500
ORNAM £LRS(SEF, MLIXN, FUE
HDnE) 45,100 36,600 8,500
oget 300& * 125,000 37,500 29,000 8,500
303 Za= 11,500 0 11,500
01 L&= 11,500 0 11,500
OZF+ZHS 11,500 0 11,500
Od=xZa= 11,500,000 11,500 0 11,500
405 TtatFH S 69,500 0 69,500




2N
X ZH -
L= B

el

=]

N

7 NI
A 2el

E8X0 MM I

= o

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
01 AL ESH SH 69,500 0 69,500
ovise IXxg LY 26,000,000& » 104 26,000 0 26,000
OB SE AXAAE 36,000,000& = 1CH 36,000 0 36,000
O EHX ADEZ 2,500,000& = 304 7,500 0 7,500
HE2LZH (HFE M) 61,478 51,940 9,538
Jl=Zdl 61,478 51,940 9,538
(E2=)J12dyl 61,478 51,940 9,538
201 Lt 21,538 20,260 1,278
01 AFR 22l 21,538 20,260 1,278
oJl2gedE=H(JIEZH) 9,69%4,000& 9,694 8,524 1,170
OJl=Zul(Sl) 9,504,000 9,504 9,396 108
202 04l 35,740 28,530 7,210
01 SLHOYI 21,460 17,820 3,640
O©JIEZH 21,460,000 21,460 17,820 3,640
02 HOHI 14,280 10,710 3,570
ONMEN=8+ =20 14,280,000& 14,280 10,710 3,570
203 YR =&l 4,200 3,150 1,050
04 REN2ELRZ=TH| 4,200 3,150 1,050
OJ|EH (302! Olat) 4,200,000& 4,200 3,150 1,050




=2 13 gt

N & O &

[H & X

g Al

A B3-S (3AH) - MIRAY - BES Hns2
294D 1,607,338 483,801 1,123,537
M2 10,599 8,764 1,835
= PIETE 10,599 8,764 1,835
F)pMes 2el(H) 1,892 1,702 190
201 L2 | 1,892 1,702 190
02 22| 330 190 190

OFMAL SHAMN ALY S SIS

1,0008 * 20021 380 190 190
F)MYs Y 2H SYAE B2(F) 8,707 7,062 1,645
201 L2 | 2,196 1,911 285
02 222l 760 475 285
OHBHE SXAH SISB 1,908 * 4002 760 475 285
202 01| 5,440 4,080 1,360
02 9% 0f 5,440 4,080 1,360
OMBAAR FHOH 170,008 * 4% « 83 5,440 4,080 1,360
BHSYBU(HT SYAMD) 1,063,272 34,234 1,029,038
=] 40,239 34,234 6,005
Z)JZl 40,239 34,234 6,005
201 Lt 2| 21,599 18, 124 3,475
01 Ak 2reltl 20,59 17,596 3,000
oJlzgess eS| 11,524,000% 11,524 8,524 3,000
02 22| 1,003 528 475
©F4I| RN B2l 45,0008 * 204 * 63 540 180 360
OFRZAI ST B2IEl 5,785,408 + 8% 463 348 115
202 01 bl 14,440 12,960 1,480
01 201l 14,440 12,960 1,480
CPEET:! 14,440, 0002 14,440 12,960 1,480
203 &R E T H| 4,200 3,150 1,050
04 BN RET| 4,200 3,150 1,050
CBJET 4,200,000 4,200 3,150 1,050
o121 2 gyl 023,033 0 023,033
24| 023,033 0 023,033
101 2124Hl 023,033 0 023,033
03 RIAHAZ 2R 023,033 0 023,033
CEERTIERCE T 018,533 0 018,533
b/ 1,656,4602 * 47% » 4% 311,415 0 311,415
Oa0i3 232,235 0 232,235




SN HER HAAMDY
o WHSAPH(FAT SSAND)
S I E= EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SIS,
1,976, 46021 * 50% * 47% * 23] 92,894 0 92,894
R EEET
1,976,460 * 50%+ 47% * 33| 139,341 0 139,341
OmYU+g 243,368 0 243,368
SSAURBASY 90,0008 + 47 + 42 6,920 0 16,920
-E IS 70,0008 * 47 * 4% 3,160 0 13,160
“HIAGIME 80,0008 + 47 + 4% 15,040 0 15,040
sy 19,520 0 19,520
BT 40,0008 * 47% » 48 7,520 0 7,520
X 20,0008 * 1502+ 4% 2,000 0 12,000
IR EE S5 3,885 0 13,885
R 433,880 169 * 23l 13,885 0 13,885
-Zn2R4Y 164,843 0 164,843
NZrelg  151,1808 » 47% » 4% 28,422 0 28,422
FuaRsy
120,940% * 47% * 62 » 4% 136,421 0 136,421
SELIEI 85,817 0 85,817
-H o g Al 160,0008 * 47% » 4% 30,080 0 30,080
SCEES
1,976,460 * 60% * 47% * 13l 55,737 0 55,737
Osa=x 26,440 0 26,440
-9) A bl 80,0008 * 47 « 4% 15,040 0 15,040
R 50,0008 * 479 » 4% 9,400 0 9,400
-As4g 250,008 * 2% * 4% 2,000 0 2,000
ORI BINAY  92,870% * 472+ 202 87,298 0 87,298
oszazl 6.000% * 479 * 202 5,640 0 5,640
OZ eI T=Hl 70,0008 « 47% « 85 26,320 0 26,320
OFUET ALY A2 NYE
1,500,0009! * 3% 4,500 0 4,500
9D WRE OISCIE TASZE T4 533,467 440,803 92,664
RelEs el SHAHY X 64,494 45,464 19,030
(BF)SIWERLS 2T(H) 54,054 35,024 19,030
201 et | 38,530 19,500 19,030
02 232 38,060 19,030 19,030
OBAMHLLS HIDXAN L& 2H23 24,560 12,280 12,280
Oget 2702 * 30,00004 * 23] 16,200 8,100 8,100
0S92l 1,900%! * 2,20004 * 23l 8,360 4,180 4,180
OBFMWHLLS SEDXAN 25 2B
2702 * 20,00004 * 23l 10,800 5,400 5,400
OBINLLLS A2 25 LWL
2702 * 5,00004 * 23| 2,700 1,350 1,350
Yo MY X4 407,112 335,201 71,911




SN AT BAAMD
HME: oD RS OE0IE CABZY T4
Sl WEE MBHY I4 (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
(HF)WEBE 47 29(H) 8,844 8,544 300
201 Lyt | 300 0 300
01 AL 2 el bl 300 0 300
OMERE +Z28 JIA I=H| 300 0 300
Ogs= 100,0002! * 3¢ 300 0 300
(HF)M80 RSSI| X (H) 20,428 7,008 3,420
301 LB A3 1,800 1,080 720
IEEECE 1,800 1,080 720
OLASHE &X IS LALL
10,0002 * 1504 *122 1,800 1,080 720
402 DIZ T 20| | 6,750 4,050 2,700
02 212HCH & A2l bl 6,750 4,050 2,700
OMY I SHEI| LA LX FSLLE
450,00020 * 150H * 13l 6,750 4,050 2,700
(HF)IRHA L M| LTSUH(H) 356,890 285,199 71,691
101 Q12| 91,602 29,181 62,421
YSEFEEPEEES 91,602 29,181 62,421
oA ADA NS
68,8002 * 5% 202 * 128 82,560 26,420 56, 140
oANslRERRYS 9,042 2,761 6,281
ODELEILHS  82,560,0008 * 1.5% 1,239 397 842
OHMTHBH B A B2 82,560,0008 * 1.3% 1,074 344 730
eELLE 82,560,0002! * 4.5% 3,716 1,189 2,527
oAzRER 83,064,0002 * 2.945% 2,594 779 1,815
OBIRYRER 5,504,0002 * 6.55% 367 0 367
201 Yot FH| 226,198 221,428 4,770
01 At 2 el bl 10,870 7,180 3,690
OMZI| AAZE BHAL BN
1,0008 * 5000H 500 250 250
OUEHIIS ADLS 1002 * 30,00004 3,000 1,500 1,500
OUEHIIZ SARA AN &2 TRIEHEY
220,0008 * 43| 830 440 440
OANZE HIIE Heltl 150,0008 * 155 2,250 750 1,500
02 2zl 215,328 214,248 1,080
oBTBRAY HAUS FUE ABE
60,0002 * 304 * 122 2,160 1,080 1,080
206 T &t 24,190 19,690 4,500
01 M2 bl 24,190 19,690 4,500
OBAESE 7Y 9,000 4,500 4,500
ol 2 95 50,0008 * 105 * 122 6,000 3,000 3,000
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